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Exercise 1A

1. Solve the following.
Solution:

a. 165 cm to mm

lcm = 10 mm

165 cm = 165 = 10 mm = 1650 mm
b. 1.2kmtom

1 km = 1000 m

1.2km=1.2= 1000 m = 1200 m
c. ldkmtom

1 km = 1000 m

14 km = 14 = 1000 m = 14000 m

2. Express the following in hm, dam, dm, cm and mm.
a. 387.1%m b. 40829 m
Solution:

a. 387.19% m
1
lm=—hm
100

1
387.194 m = 387.194 = oo =3.87194 hm

387194 m = 387194 X1 dam

= 35.7194 dam 0

lm=10dm

387.194 m = 387.194 = 10 dm = 3871.94 dm
l m= 100cm

387.194 m = 387.194 x 100 cm = 387194 cm
1 m = 1000 mm

387.194 m = 387.194 = 1000 mm = 387194 mm

é of 20 m to cm

1
—x20=5m
4

Il m= 100 cm

5m=5x 100cm =500 cm

15 cm to mm

lcm = 10 mm

15cm = 15 = 10 mm = 150 mm

Bkm 15m tom
1 km = 1000 m

Bkm+15m=8=x1000m+ 15m =
BOO0m + 15 m = 8015 m

b. 408.29 m

|
lm=—hm

408.29 m = 408.29 = II;IL'I = 4.0829 hm

408.29 = |
10

408.29m = dam = 40.829 dam

lm=10dm

408.29 m = 408.29 % 10 dm = 4082.9 dm

Il m=100cm

408.29 m = 408.29 = 100 cm = 40,829 cm

Il m= 1000 mm

408.29 m = 408.29 = 1000 mm = 4,08,290 mm
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Exercise 1B

1. Convert the following.
Solution:

a. 27 dagtomg

1 dag = 10000 mg

27 dag = 27 = 10000 mg = 270000 mg
b. 924 mgtokg

mg kg

~ 1000000

924 mg =924 ———
1000000

c. 394 dgto dag

!
ldg=—d
ST R

394 dg = 21 dag = 3.94 dag
100

d. d. 1018kgtog
1kg=1000g
1.018 kg = 1.018 x 1000 g = 1018 g

Express 251.684 kg in hg, dag, g and cg.
Solution:

1 kg=10hg

251.684 kg = 251.684 x 10 hg = 2516.84 hg

1 kg = 100 dag

251.684 kg = 251,684 x 100 dag = 25168.4 dag
1kg=1000g

251.684 kg = 251684 x 1000 g = 251684 ¢

1 kg = 100000 cg

251.684 kg = 251,684 x 100000 cg = 25168400 cg

Exercise 1C

1.

Convert the following,
Solution:

a. 4000 mf to dafl

mf daf

" 10000
4000 mé = ﬁ:ﬂé daf
10000
b, 14.55( tomf{
1 &= 1000 mf
14.55 £ = 14.55 = 1000 m{ = 14550 m{
15hitof
Lhé=100{
15hi=15=100{=150¢
d  65dftomf.
1df =100 mf
6.5df = 6.5 = 100 mf{ = 650 m{

i

kg = 0.000924 kg

1
2. Find A of 20 g in mg.

Solution:

! af 20 ! = 20 5
— = == =53
1 E n E g

1 g= 1000 mg
5g=>5x 1000 mg = 5000 mg
3. Convert 7.25 kg to g.
Solution:
lkg=1000¢g
7.25kg = 7.25 x 1000 g = 7250 g

Find é of 2000 m{ in L.
5

Solution:
1

. of 2000 mé = éxzﬂf}ﬂ mf = 400 m{
5 5

mf =
1000

400 mf = 00 f=04r1
1000

Fill in the blanks.
Solution:

a. 295,600 cf =2 k{ 95,600 cf
b. 425k{=42501¢
1978 f=1k({9h{7daf 8 {

]
H
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2.

Express 39.647 k{ in h{, dal and £.
1 ki = 10,000 d£

Solution:

Lki=10h(

39.647 ki = 39647 = 10 h{ = 396,47 h{

L ki =100daf

39647 ki = 39647 » 100 daf = 3964.70 dal
1 ki = 1000 ¢

39647 ki = 39.647 = 1000 § = 39,647

Exercise 1D

1. Add the following.

Solution:

4. 3Mm+5m2cm

m <m
4 00
+ 50 02
84 02

Mm+5m2cm==584m2cm

b. S5kg3ddg+3kg950g

kg g
|
5 340
+ 3 95()
9 29()

Skg3d0g+3kg950g=9kg290¢g

e. 19cmémm+4cm

cIm M

19 06
+ 4 00
23 06

19 cm 6 mm + 4 cm = 23 cm 06 mm

Subtract the following.
Solution:

a 45m-20ml12cm

m cm
45 00
— 20 12
24 28

45m-20m 12 cm = 24 m 88 cm

b. 5kg350g-1kg450g

kg g
5 150
- 1 450
3 900

S5kg3s0g- 1kgd50g=3kg900g

1 £400 ml + 200 ml

£ ml

!

1 400
- 900

2 300

1 2400 ml + 900 ml =2 { 300 ml

S5kg300g+800g

kg g
|
5 300
+ 200
6 100

Skg300g+800g=6kg100g

f. 64500méf+3420mfl

£ m{
(& 500
- 3 020
9 520

G500 mS +3020ml =9 £ 520 mf

5400 ml- 3 £ 600 mY

£ m¢
5 400
- 3 G000
1 200

50400 ml-3 £ 600 ml=1 £ 800 ml

9cm 7 mm -4 cm 6 mm

cm mm

9 7
- 4 &

5 1

dcm7ymm-4cmomm=5cm | mm
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e. 19kg-6kg250g

kg g

19 000
- 6 250

12 750

19kg - 6kg250g=12kg 750 g

3. Multiply the following.

Solution:

a. 6m 500 mm = 5 (Express in cm)
6 m 500 mm = 600 cm + 50 cm = 650 cm
650 cm ® 5 = 3250 cm

b. 65g250 mg = 2 (Express in g}
65250 mg=65g+ 0250 g=65250g
65.250 g = 2 = 130.500 g

e. 8750 g x 15 (Express in kg)
8750 g = 8.750 kg
8.750 kg x 15 = 131.25 kg

4. Divide the following.
Solution:

a. 4565 mf + 3

4565 mf + 3 = 1,521.67 m{

b. 954 g+ 9
954 g+ 0=106g
Exercise 1E

1. Sheena bought a cloth measuring 1 m 60 cm and

Pooja bought another piece of cloth measuring 1 m
80 cm. What is the total weight of both the pieces of
cloth?

Solution:
Length of cloth Sheena bought = 1 m 60 cm
Length of cloth Pooja bought = 1 m 80 cm

Total length of both clothes = 1 m 60 cm + 1 m 80
cm =3 m 40 cm

The total length of two clothes is 3 m 40 cm

3. A bagweighs 17 kg 700 g and another bag weighs
11 kg 850 g. Find the total weight of the two bags.

Solution:

Weight of one bag = 17 kg 700 g

Weight of second bag = 11 kg 850 g

Total weight of two bags = 17 kg 700 g+ 11 kg 850 g
=29kg550 g

Therefore, the total weight of two bags is 29 kg 550 g

£ 10£500ml-3£750mé

L m{
10 500
- 3 750
[§] 750

10E500me -3 (750 mé =6 {750 m{

c. 125k{ x5 (Expressin £)
125k{=12,500 ¢
12500 £ % 5 =62,500 (

d. 6540 mm x 8 (Express in m)
6540 mm = 6.54 m

6.54m=x8=5232m

c. 12km300m=5
12km 300 m = 12,000 m + 300 m = 12,300 m
12300 m + 5= 2460 m
d. 52,344 mg by 18 (Express in g}
52,344 mg = 52344 g
52344 mg = 18 = 2.908 g

2. Out of 13.560 km, Aman walked 3.285 km, drove
4.183 km and ran the remaining distance. How
much distance did he run?

Solution:

Total distance travelled by Aman = 13.560 km
Distance that Aman walked = 3.285 km
Distance that Aman drove = 4.183 km

Distance that Aman ran = 13.560 - 3.285 - 4.183
=6.092 km

Therefore, the distance Aman ran is 6.092 km.

d. 35 [ of coke is to be put in cans. Each can have a
capacity of 500 m{. How many cans would be needed?

Solution:

Capacity of one can = 500 m{

Total coke to be put in cans = 35¢ = 35,000 m{
Number of can required = 35,000 m{ + 500 m{ = 70 cans
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5. One bottle contains 625 m¢ of water. There are 12
bottles in one carton. How much water (in litres) is
there in the carton?

Solution:

One bottle contains water = 625 m{

Number of bottles in one carton = 12

Total water in one carton = 625 mf x 12 = 7500 m¢

Il mf = L-f
1000

Exercise 1F

Circle the most appropriate answer.

Solution:

'@\ ™

-

Weight of apple  Length of syringe Weight of brick

900 gfi10 g 100cm 120 kg2 kel
4, : 6. &
N 2
. ]
—]

Capacity of can  Length of pencil  Capacity of

300 mfl3 ¢ L0 cmf 100 cm bottle[l £]10 ¢

5/ Maths / L-6 Term 1 5|Page



5/ Maths / L-6 Term 1 6|Page




5/ Maths / L-6 Term 1 7|Page




5/ Maths / L-6 Term 1 8|Page




5/ Maths / L-6 Term 1 9|Page




